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Potential Representation
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Propagation Algorithm

e Initialization
1. Absorb evidence F = e in the potential functions W.

2. Create the join tree.

e Iteration

1. For every clique C; do: For every neighbor B; of the clique do: If C;
received the messages from all other neighbors, calculate and send
message M;; to Bj:

Mij(siz) = Y Wile) [ [ Mii(swa)

ci\Sij k#j
2. Repeat until all messages are sent.

3. Calculate the probability distribution for every clique:

P(c;) \I/Z(CZ)HMM(S'LIC)
k

4. For every attribute A calculate P(a | e) as follows:

Plale) = ) Pler),

ck\a

where C}, is the smallest clique containing A.



Propagation Algorithm

e Initialization
1. Absorb evidence F = e in the potential functions W.

2. Create the join tree.

e Iteration

1. For every clique C; do: For every neighbor B; of the clique do: If C;
received the messages from all other neighbors, calculate and send
message M;; to Bj:

Mij(siz) = Y Wiled) [ [ Mii(swa)

ci\Sij k#j
2. Repeat until all messages are sent.

3. Calculate the probability distribution for every clique:
P(ci) o< Yy(ci) HMIm(Szk) P(c1) = P(b,c,

F P(CQ

4. For every attribute A calculate P(a | e) as follows:

Plale) = Y Plek), P(cs) = P(f, 9,

cr\a

where C}, is the smallest clique containing A.

;¢ )M31(c, )M (D)

S o

¢, g)MSS(fa g)
b)



1 0,190
m 1 el 8
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

BCEG

CFG

FG

FGH

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl &
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0,8
fl
5 h1 0,5
8 h2 0,5
h1 04
gl
h2 0,6
f2
h1 0,7
g2
h2 0,3




1 0,190
\Ij 1 el &
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

M21 -

bi,c1 bi,c2 ba,c1 ba,co

0.06,0.10, 0.40, 0.44

BCEG

CG

CF®

FG

FGH

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl g
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0,8
fl
5 h1 0,5
8 h2 0,5
h1 04
gl
h2 0,6
f2
h1 0,7
g2
h2 0,3




1 0,190
\If 1 el 8
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

FG

FGH

b1
1,1

bo

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl &
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0,8
fl
5 h1 0,5
8 h2 0,5
h1 04
gl
h2 0,6
f2
h1 0,7
g2
h2 0,3




1 0,190
m 1 el g
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

FG

FGH

h1 0,2
gl
h2 0,8
fl
5 h1 0,5
8 h2 0,5
h1 04
gl
h2 0,6
f2
h1 0,7
g2
h2 0,3

Mis =

C1,91

C1,92

C2,d1

C2,92

0.254, 0.206, 0.290, 0.250

d1 0,4
d2 0,6
di 0,7
d2 0,3
g
1 0,1
f1 2
2 0,1
cl &
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6




1 0,190
m 1 el 8
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
U,
cl 0,036
b1l
2 0,084
al (\/i [ —
cl 0,144 35
b2
2 0,336
cl 0,028
bl
2 0,012
a2
cl 0,252
b2
2 0,108

FGH

d1 0,4
d2 0,6
di 0,7
d2 0,3
g
1 0,1
f1 2
2 0,1
cl &
1 09
2 g
g2 0,9
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0,8
fl
5 h1 0,5
8 h2 0,5
h1 04
gl
h2 0,6
f2
h1 0,7
g2
h2 0,3




1 0,190
\Ij 1 el g
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

FGH

€1,91 C1,92 C2,9g1 C2,92

) Y Y

fi,91 f1,92 f2,91 f2,92
1 1 1 1

Y Y Y

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl g
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0,8
fl
5 h1 0,5
8 h2 0,5
h1 04
gl
h2 0,6
f2
h1 0,7
g2
h2 0,3




1 0,190
q?l el 8
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

bi,c1 bi,ca ba,c1 ba,ca

Jv[l? — 1 ) 1 ) 1 )

1

by bo
Moq
: U,
di 0,4
b1
d2 0,6
d1 0,7
b2
d2 0,3
Mis | | FG
3
1 01
f1-8
2 01
cl g
1 0,9
2 g
FGH S
1 04
5 g2 0,4
c2
hl 2 1 0,6
gl % £ =
h2 0,8 g2 0,6
f1
5 h1 0,5
& h2 0,5
hi 04
gl
h2 0,6
2
h1 0,7
g2
h2 0,3




\Ij gl 0,190 | 0,0122
1 el
1 g2 0,010 0,0006
¢
5 gl 0,320 0,0205
e
bl g2 0,480 0,0307
gl 0,380 0,0365
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
U,
cl 0,036 0,036
bl
c2 0,084 0,084
al
cl 0,144 0,144
b2
2 0,336 0,336
cl 0,028 0,028
bl
2 0,012 0,012
a2
cl 0,252 0,252
b2
c2 0,108 0,108

A B C D E F G H
x1 0,6000 | 0,1600 | 0,4600 | 06520 | 0,2144 | 02620 | 0,5448 | 0,4842
x2 0,4000 | 0,8400 | 0,5400 | 0,3480 | 0,7856 | 0,7380 | 0,4552 | 0,5158
d1 0,4 0,064
d2 0,6 0,096
d1 07 0,588
d2 03 0,252
Ms3s FG
3
o |8t 0,1 0,0254
g2 0,1 0,0206
cl
gl 0,9 0,2290
f2
FGH g2 09 0,1850
I 0,4 0,1162
\115 , g2 0,4 0,0998
C
h1 0,2 0,0283 gl 0,6 0,1742
gl f2
a h2 08 0,1133 g2 0,6 0,1498
h1 05 0,0602
g2
h2 05 0,0602
h1 0,4 0,1613
gl
h2 0,6 0,2419
f2
h1 0,7 0,2344
g2
h2 03 0,1004




1 0,190
\If 1 el 8
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

BCEG

CFG

FG

FGH

Evidence H=h1

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl &
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0
fl
5 h1 0,5
g h2 0
h1 04
gl
h2 0
f2
h1 0,7
g2
h2 0




1 0,190
\Ij 1 el g
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
. M
b2 cl 0,144 53 —
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

fi,91 fi,92 f2,91 f2,92
02 705,704,007

BCEG

FG

FGH

Evidence H=h1

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl &
1 09
2 g
g2 0,9
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0
fl
5 h1 0,5
8 h2 0
h1 04
gl
h2 0
f2
h1 0,7
g2
h2 0




1 0,190
\Ij 1 el &
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

bi,c1 bi,c2 ba,c1 ba,co

0.06,0.10, 0.40, 0.44

M21 -

FG

FGH

b1
1,1

bo

Evidence H=h1

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl g
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0
fl
5 h1 0,5
g h2 0
h1 04
gl
h2 0
f2
h1 0,7
g2
h2 0




1 0,190
\Ij 1 el &
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

Mz =

C1,91

0.38,0.68,0.32,0.62

C1,g2 C2,g1

FG

FGH

h1 0,2
gl
h2 0
fl
5 h1 0,5
g h2 0
h1 04
gl
h2 0
f2
h1 0,7
g2
h2 0

C2,92

Evidence H=h1

d1 0,4
d2 0,6
di 0,7
d2 0,3
g
1 0,1
f1 2
2 0,1
cl g
1 09
2 g
g2 0,9
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6




1 0,190
\Ijl el g
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108
C1,91
M3 = | 0.254,

My =

bi,c1

b1,c2

<

ba,c1

ba,c2

0.527,0.434,0.512, 0.464

FG

by bo
My, = 10.075,0.409

Evidence H=h1

d1 0,4
b1
d2 0,6
di 0,7
b2
d2 0,3
g
1 0,1
f1 2
2 0,1
cl g
1 09
2 g
g2 09
1 04
f1 g
2 0,4
c2 &
1 0,6
£ 2
g2 0,6

h1 0,2
gl
h2 0
fl
5 h1 0,5
g h2 0
h1 04
gl
h2 0
f2
h1 0,7
g2
h2 0




1 0,190
m 1 el 8
g2 0,010
cl
gl 0,320
e2
g2 0,480
b1
gl 0,380
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
v,
cl 0,036
b1l
2 0,084
al
cl 0,144
b2
2 0,336
cl 0,028
bl
c2 0,012
a2
cl 0,252
b2
c2 0,108

FGH

Evidence H=h1

dl 0,4
d2 0,6
dl 0,7
d2 0,3
A gl 0,1
a g2 0,1
£ gl 09
g2 0,9
f gl 04
2 g2 0,4
. gl 0,6
g2 0,6

h1 0,2
gl
h2 0
fl
5 h1 0,5
g h2 0
h1 04
gl
h2 0
f2
h1 0,7
g2
h2 0




\Ij gl 0,19 | 0,0095
1 el
1 g2 0,010 0,0009
¢
5 gl 0,320 0,0161
e
bl g2 0,480 0,0431
gl 0,380 0,0241
el
g2 0,020
c2
gl 0,240
e2
g2 0,360
gl 0,210
el
g2 0,090
cl
gl 0,350
e2
g2 0,350
b2
gl 0,070
el
g2 0,030
c2
gl 0,450
e2
g2 0,450
U, *
b1 cl 0,036 0,0392
1 c2 0,084 0,0753
a
b cl 0,144 0,1523
2 0,336 0,3220
b1 cl 0,028 0,0305
2 0,012 0,0108
a2
b2 cl 0,252 0,2665
c2 0,108 0,1035

A B C D E F G H
x1 | 0,5888 | 0,1557 | 0,4884 | 0,6533 | 0,1899 | 0,1828 | 0,3916 | 1,0000
x2 | 0,4112 | 0,8443 | 0,5116 | 03467 | 0,8101 | 08172 | 0,6084 | 0,0000
*
d1 0,4 0,0623
d2 0,6 0,0934
d1 07 0,5910
d2 0,3 0,2533
Mg
M55 FG T
3 *
0 |8l 0,1 0,0105
g2 0,1 0,0212
cl
gl 09 0,1892
f2
FGH g2 09 0,2675
R 04 0,0480
\115 * , g2 04 0,1031
C
h1 0.2 0,0585 gl 06 0,1440
gl 2
a h2 0 0 g2 06 0,2165
h1 05 0,1243
g2
h2 0 0
h1 04 0,3331
gl
h2 0 0
f2
, | 07 0,4841
& ' 3 0 * normalized to 1




	Seite1
	Seite2
	Seite3
	Seite4
	Seite5
	Seite6
	Seite7
	Seite8
	Seite9
	Seite10
	Seite11
	Seite12
	Seite13
	Seite14
	Seite15
	Seite16
	Seite17
	Seite18
	Seite19
	Seite20
	Seite21
	Seite22
	Seite23
	Seite24
	Seite25

